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QUESTION 1

Which of the following about the Nokia 7750 SR\\'s sdp-ping utility is FALSE?

A. It tests uni-directional or round-trip in-band connectivity.

B. It tests the reachability of hosts that are using an SDP.

C. It tests the reachability of the far-end IP address of an SDP through its tunnel.
D. It can be used by specifying only an SDP ID.

Correct Answer: B

QUESTION 2

Click the exhibit.
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MTU 9212 MTU 9212

Size Sent Response

1550 - Success
1531 . Success
1552 . Saccess
15353 ~ Success
1554 . Success
1535 . Success
1556 - Success
1557 S Request Timeout

Maximum Response Size: 1556

E-pipe 100 is using an SDP with an LSP that uses the path shown (PE1-PE2-PE3-PE4). Based on the OAM command
output, which of the following is FALSE?

A. The E-pipe can support a maximum MTU size of 1578.

B. The ports of the link PE2-PE3 have an MTU of 1578.

C. An svc-ping of the E-pipe will succeed.

D. If the step size was 2, the maximum response size would be the same.

Correct Answer: A

QUESTION 3

Consider an E-pipe service configured with SAP 1/1/1:5 and SAP 1/1/1:6.7. If the SAP 1/1/1:5 accepts an ingress frame,
which of the following is TRUE?
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A. The frame egresses 1/1/1:6.7 with an outer VLAN tag of 6 and inner tag of 7.
B. The frame is dropped at the egress SAP 1/1/1:6.7.

C. The frame egresses 1/1/1:6.7 with VLAN tag 5.

D. The frame egresses 1/1/1:6.7 with VLAN tag 6.

Correct Answer: A

QUESTION 4

A Cpipe supports both structured and unstructured frames.
A. TRUE

B. FALSE

Correct Answer: A

QUESTION 5

Which of the following about the BGP VPN-IPv4 address family is FALSE?

A. When a PE router receives an IPv4 prefix from its local CE, it creates a VPN-IPv4 prefix.

B. VPN-IPv4 allows BGP to distinguish between duplicate prefixes originating from different customers.
C. In a VPRN, data traffic is carried in packets that have VPN-IPv4 addresses.

D. VPN-IPv4 addresses are only present within the service provider network.

Correct Answer: C
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